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Total number of neutrons shot = 7.912e+7
Cone of 5 degrees, 1 meter away from argon detector
All events include hit in active argon and hit in external detector

TOF (ns): external detector time — argon detector time
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Total number of neutrons shot = 7.912e+7
Cone of 5 degrees, 1 meter away from argon detector
All events include hit in active argon and hit in external detector

counts counts
Entries 23
Mean -1.23
100 — RMS 81.67
— Black: all hits in external detector
— Red: single Ar scatter, then hit
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**negative angles do not have the correct orientation
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